
数学演習 I　期末試験 2013年 7月 10日

担当：佐藤 純

問題 1 (5×10=50点)

以下で与えられた関数 yを xで微分し、y′を求めよ。

(1-1) y = ex sin x

(1-2) y = (x3 + 2x− 1)5

(1-3) y =
√
x2 − 1

(1-4) y =
√
sin x

(1-5) y = esinx

(1-6) y = xsinx

(1-7) y = x log x− x

(1-8) y = sin−1 x

(1-9) y = tan−1 x

(1-10) y =
1

2
log

∣∣∣∣x− 1

x+ 1
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問題 2 (5×10=50点)

以下の不定積分を計算せよ。

(1-1)

∫
x3dx

(1-2)

∫
x
√
x dx

(1-3)

∫ √
2x− 1 dx

(1-4)

∫
e−3x dx

(1-5)

∫
(8x3 − 9x2)(2x4 − 3x3 − 2)4 dx

(1-6)

∫
cos x− 2x

sin x− x2
dx

(1-7)

∫
xex dx

(1-8)

∫
log x dx

(1-9)

∫
1

x2 − 4
dx

(1-10)

∫
ex sin x dx

1


